CAD FILE - STB-35.DWG 11/08/09

3 T
4
l A 1] W] 1 S 1
7 A ]
ol A4 o /@
3 I _1| =1
= o 7 o
=4 < =
- wonlil ilwon]i 3
=) (] =] o
Il o
[ o Il =Y o
l A o )
W RWWY (1 | | N | ] T
8
2000
O O
MAXIMUM 125mm MAXIMUM 125mm
OPENING T OPENNG
/d -
\ /\ \ /L\
~ SEE DETAIL A = SEE DETAIL A
ITEM NO. INGAL PART NO. DESCRIPTION
— 7/ — 1 C2804 CRANKED HANDRAIL EXTENSION
( > -~ N @ 2. C2004G 32NB HANDRAIL
.—@ / N\ 3. C1982 STANDARD SPRING STEEL BUFFA
( :) 1 /_@ / \ 3a. €1980 CLASSIC SPRING STEEL BUFFA
=) __@ @7 " 4. C1351G G4 W-BEAM GUARDRAIL 4.0M N.L.L
( ) | j © 5. C1505 M16 X 50 POST BOLT / NUT
CONNECTION OF 6. C1550 M16 X 32MM SPLICE BOLT / NUT
o b CONNECTION OF ANGLE | GuﬁBEA?BPEF;(QI"ELSTgN \l 7. C1988G 900 X 2400MM ANTI-CLIMB MESH PANEL
SUPPORT TO HANDRAIL SHOWN HERE FOR
EXTENSION SHOWN HERE 8. C1997 M20 ANCHOR BOLT
PR T Bk OfE ﬁlﬁéﬁmgﬁiﬁw 9 C1646 M8 X 30MM BOLT / NUT
MESH INSTALLATION H :
1 U 10. C2015G ANGLE SUPPORT FOR MESH
@ MAXIMUM 100mm o 11 c2016 M10 WASHER
\ | /_OPENING E MAXIMUM 100mm DETAIL A 12 C1647 TEK SCREW 12-14 X 25
o 1 OPENING -
@ —© @
o o
STANDARD POST CLASSIC POST
4 A A ("DATE INGAL CIVIL PRODUCTS
INGAL Civil Products PROECT SBRING STEEL BUEFA WITH T REFERENGE No.
57-65 Airds Road, Minto, NSW, 2566 Australia _ DESIGNED
Telephone 61-2-9827 3333, Facsimile 61-2-9827 3300, Internet www.ingalcivil.com.au HAN DRAI L AN D ANTl CLIM B M ESH CHECKED fg
¢ Industrial Galvanizers Corporation Pty Ltd ACN 000 545 415 (2005) TITLE W DRAWING No.
@  This drawing is the subject of COPYRIGHT. No part of it may be used, reproduced GEN ERAL ARRANG EM ENT w STB 035
0 | INITIAL ISSUE .S | 11/08/09 TAD TSR . . i FINISH  AS SHOWN -
— or copied by any means or in any form without the prior permission of the owner.
Qev. Description Chkd| Date )/ \SCALE N.T.S REV.0




